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Quick Review

» When a number is multiplied by itself; the result is a square number.

For example, 9 is a square number because 3 X 3 =9. o }3/7( | X 'O \ ‘0 —
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» A number is a square number if it has an odd number of factors. ' ax 5 o2 =3 v
For example, to check if 36 is a square number, first create a list of the factors of 36 in ‘ 0=y =&

pairs as shown: 102 Y = QZ
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1,2, 3,4, @ 9,12, 18, 36 | A number with an j
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There are nine factors of 36. This is an odd number, factorsisnota g
square number. &7

so 36 is a square number. .

In the ordered lisf of factors, notice that 6 is the middle number, and that 6 X 6 = 36.
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We write the square root of 36 as Y36

~ » Squaring and taking the square root are inverse To find the sagiare of D )r &'\ i S . | 1 L{ C? vi
operations. anumber, maffiply the }/ Z 7( 5 L(S o —\- < r v 7 L(Ct =1
So, V36 = 6 because 6> = 6 X 6 = 36. nuber by el g X L(C( @ =2
This means Y6 = 6 : 23 .

» You can find a square root using a diagram of

square. The area is the square number. | ) _&%\_
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» The side length of the square is the square root W
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